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67/2/3

This question paper contains two parts — A and B.
Part A is compulsory for all.

Part B has two options — Analysis of Financial Statements and
Computerized Accounting.

Attempt only one option of Part B.
All parts of a question should be attempted at one place.

Wusg <h
(TS T qUT ST & e St
PART A
(Accounting for Partnership Firms and Companies)

A AT G491 T BH § FIeQR off J°1 SOeX oy Siedt off | 36kt Tumlt gt
A T 50,000 TAT T 25,000 off | HEEH Hor@ H S W 12% i 99 H R
Y SIS 1 YEUH o1 | 31 °T6, 2016 1 G99 3T a9 o [T {5t | & g
forn o o o 1 Searr R feE T |

3¢ % Mem & foTu 3maves TarESE gfafe Hifvw |

Suman and Sudha were partners in a firm sharing profits equally. Their

fixed capitals were ¥ 50,000 and ¥ 25,000 respectively. The partnership
deed provided interest on capital at the rate of 12% per annum. For the
year ended 315t March, 2016, the profits of the firm were distributed
without providing interest on capital.

Pass necessary adjustment entry to rectify the error.

2



2. Ve fafite 3 = 10 ¥ & 1000 Fwar 37wm &1 T 2 Ul 7w i Afem =
TR 1 e T wE W g o | 9z 37 SAfeekan qfyr it o
Shifore i W g7 3l vt gA:frifia fopam S st B | 1
7 Ltd. forfeited 1000 equity shares of ¥ 10 each for the non-payment of
the final call of ¥ 2 per share. Calculate the maximum amount of
discount at which these shares can be reissued.

3. 3 q el 1 3g@ HIT [eh T=did |ISIGRT shl ISil T ATERO: S

feam ST 2 | 1
State the two situations in which interest on partners’ capital is generally
provided.

4. T o AfdNEd 37 Afoadi hi AR H P TR A AR BH S
Yo T8f 99 Hehd | 1

List the categories of individuals other than the minors who cannot
become the members of a partnership firm.

5. {9 91 T TH WH A WIS § 99T 4 : 3% UG H o Sied 3 | 3| Al
HI Th AT ARG SR | 1, WE G THT 1 T T HgWIeH  3TUTd

3:9:929 |mﬁaﬁm%%mﬁﬁm%wﬁwﬁm | €97 %
) o Hifse | 1

Reena and Raman are partners in a firm sharing profits in the ratio of

4 : 3. They admitted Roma as a new partner. The new profit sharing ratio

between Reena, Raman and Roma was 3 : 2 : 2. Raman surrendered %rd

of his share in favour of Roma. Calculate Reena’s sacrifice.

6. I fAeE 9 T 100 T&H % 2000, 9% TG b 10% % §g W T & oA
aed mmfe fpu | wrgel Uf o1 A oTeed % WWY WG T |
2400 ROAT % TAY 3G ol BT qAT AH 3ATeIGehl shl AHUTAH IR T
AT L T T 4 |

FRUTGEAT < A o TOQ sTrawees Temmen gfafseat i | 1
Y Ltd. invited applications for issuing 2000, 9% debentures of ¥ 100 each

at a discount of 10%. The whole amount was payable at the time of
application. Applications for 2400 debentures were received and pro-rata
allotment was made to all the applicants.

Pass necessary journal entries for the issue of debentures.

67/2/3 3 P.T.O.



67/2/3

ot sfean fafies 9 < sfewn foifies o w=fimd =1 %9 fooar | st sfean fafies
1 YraH = yer @ R R

(i) T 10 & 10,000 THAT ;M Hl 20% o ey W FrifHd i |
(i) T 100 I & 1000, 9% UG I 5% & g T i b |

(i) Y T 37,000 Tk b IR L |

= sfemn faftee i qeaehi # weftRt & s aen < sfean fafiee =t ok yam
61 AR U= gfafsar Hifsu |

C India Ltd. purchased machinery from B India Ltd. Payment to B India
Ltd. was made as follows :

1) By issuing 10,000 equity shares of ¥ 10 each at a premium of 20%.
(i1)) By issuing 1000, 9% debentures of ¥ 100 each at a discount of 5%.
(iii) Balance by giving a bank draft of ¥ 37,000.

Pass necessary journal entries in the books of C India Ltd. for the
purchase of machinery and payment to B India Ltd.

TS Hied s 3 31 T 100 I8 & 400, 12% RO, S8 6% & 9 W
frifua fopam mam o, 1 T 10 IS & Twar 90 4 uRafda fhan | war o1n
w1 T 25% & ARy W R T | 12% RO o e W ag o et
Toh STUfcIfad el foham T 7 |

3O PRI TR 1 TIedl § ¥id §U, 39Yh el o [ TS Higd
fefiee 1 geaehl | A9 U= gfafseat Hifre |

Raj Motors Ltd. converted its 400, 12% debentures of ¥ 100 each issued
at a discount of 6% into equity shares of ¥ 10 each issued at a premium
of 25%. Discount on issue of 12% debentures had not yet been written off.

Showing your working notes clearly, pass necessary journal entries for
the above transactions in the books of Raj Motors Ltd.

T fafeE T 15,00,00,000 T Afekd YSf, ST 10 T&% % 1,50,00,000
THAT I H 99w 2, % W1 ISk g | HEA Shi SANET am qoi Yed gl
T 5,00,00,000 ff | TR Fagaeh! I U YgH A &g a1 FREUE T
& o & o fas@ & fou et 3 ST | U @re giEne et <hl
AT b1 ol foram | ot 3 T, gariem qen THe | i faeera el
i Toraer 1 oft for form | oot Fefia focfta sTawEskaredt @l U i o faw
FHIH T T 10 TS $ 2,00,000 THAT 3TN qAT T 1,000 T & 2000, 12%
O] < A 1 o fon | ster qen kot 1 R qU 9 8 eIfied
B AT | 500 3 BT Teh IWUNH T 3 Ufd W < Ifqm I ufyr =
PIAH i § IHhA & |

Hrot srfafEm, 2013 6 g 111 & TEdHi o IR HEoT & feufa foewor §
379 YTt Wl TEC | UH fohegl @ qodi sl ggaH Wt T =g srat Jamia
HET TR 7 |




Gagan Ltd. is registered with an authorised capital of ¥ 15,00,00,000
divided into 1,50,00,000 equity shares of ¥ 10 each. Subscribed and fully
paid up share capital of the company was ¥ 5,00,00,000. For providing

employment to the local youth and for the development of rural areas of
Jharkhand State, the company decided to set up a food processing unit in
Hazaribagh. The company also decided to set up skill development
centres at Ranchi, Hazaribagh and Ramgarh. To meet its new financial
requirements the company decided to issue 2,00,000 equity shares of

T 10 each and 2000, 12% debentures of ¥ 1,000 each. The issue of shares

and debentures was fully subscribed. A shareholder holding 500 shares
failed to pay the final call of ¥ 3 per share.

Show the share capital in the Balance Sheet of the company as per the
provisions of Schedule III of the Companies Act, 2013. Also, identify any

two values that the company wants to propagate.

10. o, Y, TR AT TH Th BH H AEIER I QA1 5:3:1: 1% JAJI § Y Fied
| 1SHed, 2017 bl TH 4 BH H TG TS0 L (=1 | TH & AT T80
HE W BH H BN B T T 4,20,000 Tha1 =1 | o, =Y A1 W A
AT AT RIS STA 4 : 3 : 37 |
3Ot SRR EHURIT <Rl Esedl | SId §U, TH o TSI T80 hid W EAT(d
% @I o ToTT Bl <l qodenl § TTagersh Ui gfafse Hifs | 3

P, Q, R and S were partners in a firm sharing profits in the ratio of

5:3:1: 1. On 15t January, 2017, S retired from the firm. On S’s
retirement the goodwill of the firm was valued at ¥ 4,20,000. The new

profit sharing ratio between P, Q and R will be 4 : 3 : 3.
Showing your working notes clearly, pass necessary journal entry for the

treatment of goodwill in the books of the firm on S’s retirement.

67/2/3 5 P.T.O.
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12.
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Gehol AT W Th HH H TSGR & TAT 3 : 2% A H oW dled o | 3Tl
;Wiﬁﬁm T 5,00,000 A& T 3,00,000 o | 1.1.2017 I 35 ATH
F 1 W%Wﬁwﬁ@wmaﬂm | SR J ATH T YT |
Jehsl ﬁ gTed foRem | ER 319t ISt o folT = 3,00,000 T T8 ehat dem T
1 g i a Tt T o |

GRY o T W B bl T 99T Iehol, I Td ARY b eI T ATH TEHTSH
AT I TUHT HIT | T o @A o fTT Trageh Ustmm=n gfdfse o
T |

Pankaj and Naresh were partners in a firm sharing profits in the ratio of
3 : 2. Their fixed capitals were ¥ 5,00,000 and ¥ 3,00,000 respectively.

On 1.1.2017, Saurabh was admitted as a new partner for ~th ghare in

the profits. Saurabh acquired his share of profit from Pankaj. Saurabh
brought ¥ 3,00,000 as his capital which was to be kept fixed like the
capitals of Pankaj and Naresh.

Calculate the goodwill of the firm on Saurabh’s admission and the new
profit sharing ratio of Pankaj, Naresh and Saurabh. Also, pass necessary
journal entry for the treatment of goodwill.

T, 915 AT IS Ueh BU H AHER 4 AT 5: 3 : 2 UG H oY Fied o |

®H O Ideh Ui a9 31 WTE &l oG il & | 30.9.2016 i WS i g &l

TS | TRER Hohg W SER fRH TSR i gog % wwy U feures

frefafaa < gmm

() 39 Y5t WId 1 I qA1 G5t W 129 a1 &1 | 1.4.2016 1 9IS
gSht @ # T 80,000 I I T |

(i) 3! T % I8 H, BH b AW H TR W R AT IS a9 *
fospa W g o9 I @ & YR W I Sw, A fh 25% ff |
30.9.2016 A% %1 T fasha T 4,00,000 o1 |

(i) H I TNd § IR U | A hl g W BH hl GAT(d 1 JoATh
 3,00,000 TR 7T |

HEER 9@ | I8 Wl yeu™ o1 foh gaeh @3igR o HI1esh i o TN | 9

fferfaa i swdfaat 6 smi

(1)  IHh FF % IY H IFHT BT | 30.9.2016 T WS 4 T 30,000 F
37T fopam o |

(i) TR W 12% MYk TS ! 0T T 2,000 1 715 |
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B o AT A 3Gk TGS I TEgd H o I g 1 ISt @rar dar foR

g Jedl B 304 38 QU &l R | w1 % oiedta g duR foRm R S

ISt @rar = Tega |
Jre T g @
CIR] T
2016 2016

faqe 3o | . 30,000 |31 | 80,000
gt 30 | . 2,000 | A= 30 | ... 4,800
A 80 | s | e AR 30 | ... 20,000
A 80 | v |
A 80 | v |
1,64,800 1,64,800

s F ISt @ g I |

X, Y and Z were partners in a firm sharing profits in the ratio of 5 : 3 : 2.
The firm closes its books on 315* March every year. On 30.9.2016, Z died.
The partnership deed provided that on the death of a partner his
executors will be entitled to the following :

(1)

(i1)

(ii1)

Balance in his capital account and interest on capital @ 12% per
annum. On 1.4.2016 balance in Z’s Capital account was ¥ 80,000.

His share in the profits of the firm in the year of his death, which
will be calculated on the basis of rate of net profit on sales of the
previous year which was 25%. The sales of the firm till 30.9.2016
were ¥ 4,00,000.

His share in the goodwill of the firm. The goodwill of the firm on
7Z’s death was valued at ¥ 3,00,000.

The partnership deed also provided that the following deductions will be
made from the amount payable to the executor of the deceased partner :

(i)

(i1)

His drawings in the year of his death. Z had withdrawn ¥ 30,000
till 30.9.2016.

Interest on drawings @ 12% per annum which was calculated as
T 2,000.

7 P.T.O.



The accountant of the firm prepared Z’s Capital account to be presented
to his executor but in a hurry did not complete it. Z’s Capital account as

prepared by the firm’s accountant is presented below :

Z’s Capital Account

Dr. Cr.

Date Particulars Am;unt Date | Particulars Am;unt
2016 2016

Sep30 | ... 30,000 | Aprill | ... 80,000

Sep30 | ... 2,000 | Sep30 | .......... 4,800

Sep30 | eeeeeee | e Sep30 | ... 20,000

Sep 30 | e | e

Sep 30 | ceeeeeeeee | e

1,64,800 1,64,800

You are required to complete Z’s Capital account.

13. 88, 59, Tl 1 o1 T BH H TSGR 4 A1 4:3: 2 : 1% IIA H AW
qied 9 | 1.4.2016 1 391 fedfa foawor fr g @ o
1.4.2016 w1 g, =, yrat qe ear ot feufa foamo
- ufr —— rr_:?n
qfomT Tt gt 1,60,000
G 50,000 =T it 90,000
S 40,000
S 40,000
T 40,000 1,70,000
IEIRERGE A 45,000
HIER &fayfd g== 35,000
2,50,000 2,50,000
67/2/3 8




ITee fafyr @ dreieri 3 vfasy #§ @9 SUeR died &1 fo o | 33 399 %
fau i i =l #1 g T 60,000 foRa w | wERR e W oft wEEa

Bq ¢

i) R Ffgfd F= % fovg g &1 IFEE T 40,000 TR TR G
Torft afErafo=l @ T 15,000 T eI SR STET |

(i) TN I IR I T AT TR AU o ATIR FEE foRa
TR, $Eeh ToTC <] WA @il T4 |

Qe @A, HEGR o sl @d adm JFifed B &1 feafd foator qam

HIFTT | 6

Singh, Jain, Sharma and Gupta were partners in a firm sharing profits in
the ratioof 4 : 3:2: 1. On 1.4.2016, their Balance Sheet was as follows :

Balance Sheet of Singh, Jain, Sharma and Gupta as at 1.4.2016

Liabilities Amount Assets Amount
< <
Capitals : Fixed Assets 1,60,000
Singh 50,000 Current Assets 90,000
Jain 40,000
Sharma 40,000
Gupta 40,000 1,70,000
Sundry Creditors 45,000
Workmen Compensation 35,000
Reserve
2,50,000 2,50,000

From the above date the partners decided to share the future profits
equally. For this purpose the goodwill of the firm was valued at ¥ 60,000.

Partners also agreed that :

(1) Claim against Workmen Compensation Reserve was estimated at
T 40,000 and depreciation of ¥ 15,000 will be charged on fixed
assets.

(i1)  Capitals of the partners will be adjusted according to the new
profit sharing ratio for which current accounts will be opened.

Prepare Revaluation Account, Partners’ Capital Accounts and the
Balance Sheet of the reconstituted firm.

67/2/3 9 P.T.O.



14.

15.

67/2/3

1.4.2015 =t i1 fafies 9 T 100 Y% & 800, 9% FowE 1 fFE 5% *
g W FRAT | 37 KOG 1 Ui A o YUY 8% % AU U INYA HEAT 7 |
FHIH TR gEash Ufd a9 31 W Wl S HT B | 9% UG W S
30 forareR qem 31 A T T BT R | W W H hkdl I @ 10% B |

9% OIGAT o T q1 31 A=, 2016 ! FHIG §C aY o AT 9% ROTH W
TS & YIAH o U Arevaes T gfafseat Hifv |

On 1.4.2015, Neena Ltd. issued 800, 9% debentures of ¥ 100 each at a
discount of 5%, redeemable at a premium of 8% after five years. The
company closes its books on 315t March every year. Interest on
9% debentures is payable on 3oth September and 315t March. Rate of tax
deducted at source is 10%.

Pass necessary journal entries for the issue of 9% debentures and

payment of interest on 9% debentures for the year ended 315t March,
2016.

fafafga feafaat § e wH o foges © s UsHm=n gfafseat i :

(i) U HEER, i, T 18,000 % HHTH W faued wrl 0 % fofu ggad
BT | 98 foeed = &l 984 H % [T W TIR B T | ardieh
forered == = 9,000 1 YTAH Tler 4 fopam |

(i) T HATEER, OHH, 4 T 750 h foreed =31 1 YA foham |

(i) feeed == T 500 9 |

(iv) T 3,000 % dd9 W Teh HIEiCR, W&, il [THeT S & @@ & fou
fgea fopm o | ag foued = #l 98T W % T wgHa oft |
arEdfaeh faeed =™ T 2,750 1 YIAH Ueh 3 WIRIGR, gHid, 5 g
1 T T R |

(v) U HEER, 991, T 4,500 % HHYA R faued & & & o ggua &
S | 9% faged 3l ol 984 v o foru oft ggaa off | w3t SHisH
% &9 § g oI I Wik o Tg | Wik hl 8 H & HHA @rd §
TR s T T o |

(vi) T HTEER, Gdl¥, T 6,000 s SHHIIH T foeed == &l 98q i & o
TEHd B T | Ardfaeh fa€ed &5 T 4,500 1 T B o S @d &
oo T |
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Pass necessary journal entries on the dissolution of a firm in the

following cases :

1)

(ii)
(iii)
(iv)

(v)

(vi)

Satish, a partner, agreed to do the dissolution work for which he
was allowed a commission of ¥ 18,000. He also agreed to bear the
dissolution expenses. Actual dissolution expenses paid by Satish
were T 9,000.

Suleman, a partner, paid the dissolution expenses ¥ 750.
Dissolution expenses were ¥ 500.

Sandhya was appointed to look after the dissolution work on a
remuneration of ¥ 3,000. She agreed to bear the dissolution
expenses. Actual dissolution expenses I 2,750 were paid by Sunil,
another partner on behalf of Sandhya.

Seema, a partner, agreed to do the dissolution work for a
commission of ¥ 4,500. She also agreed to bear the dissolution
expenses. Seema took away stock of the same amount as her
commission. The stock had already been transferred to realisation
account.

Santosh, a partner, agreed to bear the dissolution expenses for a
commission of ¥ 6,000. Actual dissolution expenses ¥ 4,500 were
paid from the firm’s bank account.

T qYT JS U B A HISeR B 9”1 7 : 3 % U ° oy sied § | 31.3.2016
1 IehT Teufa foaor 1 weop & o -
31.3.2016 <! U qAT AE T Teufa feremon
- mfr N rrST
fafim er 60,000 | IS 36,000
o i & o yraum 6,000 | GER 54,000
E RS ] 9,000 | Eih 60,000
gy g9 15,000 | BT 1,20,000
EERUE ENIE] 1,20,000
T 1,20,000
dT  1,80,000 3,00,000
3,90,000 3,90,000

11 P.T.O.
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wﬁﬁﬁﬁ:aﬁm%im%mﬁaﬁﬁwﬁrﬁﬁmﬁm@wm

oTIT AT -

1)

(i1)

(iii)
(iv)

(v)
(vi)

wH
ifere

st oot gt % forw = 90,000 o wfa fiftem % ot wm % fow
T 30,000 AT, fEeh MY WHT HT TGl A gRIT AR K o
ST |

T 4,500 % TIQNI ol STAfIRgd L TG ST qen ARl W gad aen
Hfeyg kol o TIC 5% 1 Srag™ feham STam |

G HHGH 1 YA L e S |

Tieh W 10%, B T T 1,500 AT WA T 8% 1 HoIATH AT
STQ |

T 7,500 % Tow, TS feufa faewor § =&} <wien o B, <1 oan foran
ST |

T 6,300 T Th oHeR, @ geaet § & qutan R g, 1 o foh
STQ |

Tkl B o & YN W ITYH el o I ATavEeh s gfafseat
|

AYAT

TH, TH YT S U BH H ATEER ¥ AAT 2 : 3 : 5 h U H A9 Sied 9 |
31.3.2016 okl 3k feafa foaor f yvm @ o -

31.3.2016 h! T, TH qT 51 1 fearfa femmor

Sored f3t S qf3

T T
TR 1,65,000 | g 1,20,000

AT 90,000 | SR 1,35,000
SRl ¥l : y@9™ 15,000 | 1,20,000
LC| 2,25,000 ik 1,50,000
s 3,75,000 ENIER] 4,50,000
Eil 4,50,000 10,50,000 | ThEd 90,000
T 3,00,000
ATH-ZTH @t 75,000
13,05,000 13,05,000
12
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Ih Tafer 1 STt 9 STaehT™1 URWT fehar e 98 HeH(d g3 fh

(i) T 6,000 % CIGRI I A RN o &9 H IUMINGd foRam ST qo
CIERI W o a1 9iqg RN % T 9™ i 5% T @1 1T |
THEl I Uia: TfaIRad fRam Stwm qen i, WAl Td ¥ed W
5% TeagT™ Tl ST |

T 30,000 % TH AGR, Frwert oi@n T@l foRan T e, w1 o TR
Sl

TH q7 UH YiasT H &Y 2 : 3k UG H Sl |

St % TR TRV i W HBH hl TANA w1 Jedrshd T 90,000 foram
™0

St o TR UEW I W IUYH el b T BH I el H ATETIh
o= gfafseat Hife | 8

(ii)

(iii)

(iv)

(v)

A and Z are partners in a firm sharing profits in the ratio of 7 : 3. Their
Balance Sheet as on 31.3.2016 was as follows :

Balance Sheet of A and Z as on 31.3.2016

Liabilities AmOURt | A gsets Amount
Sundry Creditors 60,000 | Cash 36,000
Provision for Bad Debts 6,000 | Debtors 54,000
Outstanding Wages 9,000 | Stock 60,000
General Reserve 15,000 | Furniture 1,20,000
Capitals : Machinery 1,20,000

A 1,20,000

Z 1,80,000 3,00,000

3,90,000 3,90,000

On the above date B was admitted for ith share in the profits on the

following terms :

1) B will bring ¥ 90,000 as his capital and ¥ 30,000 as his share of
goodwill premium, half of which will be withdrawn by A and Z.

Debtors ¥ 4,500 will be written off and a provision of 5% will be
created on debtors for bad and doubtful debts.

(i1)

(iii) Outstanding wages will be paid off.

13 P.T.O.



(iv) Stock will be depreciated by 10%, furniture by ¥ 1,500 and
machinery by 8%.

(v) Investments of ¥ 7,500 not shown in the Balance Sheet will be
recorded.

(vi) A creditor of ¥ 6,300 not recorded in the books was to be taken
into account.

Pass necessary journal entries for the above transactions in the books of
the firm on B’s admission.

OR

N, S and G were partners in a firm sharing profits and losses in the ratio
of 2:3:5.0n 31.3.2016 their Balance Sheet was as under :

Balance Sheet of N, S and G as on 31.3.2016

Liabilities Am;“nt Assets Am;“nt

Creditors 1,65,000 | Cash 1,20,000
General Reserve 90,000 | Debtors 1,35,000

Capitals : Less : Provision 15,000 1,20,000

N 2,25,000 Stock 1,50,000

S 3,75,000 Machinery 4,50,000

G 4,50,000 1 10,50,000 | Patents 90,000

Building 3,00,000

Profit and Loss Account 75,000

13,05,000 13,05,000

G retired on the above date and it was agreed that

1) Debtors of ¥ 6,000 will be written off as bad debts and a provision
of 5% on debtors for bad and doubtful debts will be maintained.

(i)  Patents will be completely written off and stock, machinery and
building will be depreciated by 5%.

(iii)) An unrecorded creditor of T 30,000 will be taken into account.
(iv) N and S will share the future profits in 2 : 3 ratio.

(v) Goodwill of the firm on G’s retirement was valued at ¥ 90,000.

Pass necessary journal entries for the above transactions in the books of
the firm on G’s retirement.

67/2/3 14




17. &&ish fafiRg 3 T 10 5@ % 2,00,000 Twar 379 &1 T 10 Ui 377 *
ey W frifa s & faw smeea smmfea febe | wfyt =1 gram fe yew
q T AT
AT W — T 4 9fq 319 (T 2 Afeny afza)
ATEA W — T 59fq A9 (T 2 Afyey afga)
T IreAT W — T 590 39w (T 3 3fireny afga)
gEdt qu Al I W — Y AR

i quia: AfYEd & 7= | 1000 M % Teh AU, T 7 e RN 1
YA 81 TRl T 1500 3T o 3T TUReh, WH, = T THul 3797 TR

T T ATeeH o T L T | e & qha IvaTq T o AT T &
o T | 3Eeh T YoM AT URT A Mg | 500 M S AR SIS

q W ATEAT TR 1 YIAE T8 R q9m 600 3 W Ueh ANUWH cATA

SO AT T o E1eF gl ATeAT TR 61 ot PIae L fean | wem am=m i

1 W o L IRETd, QI o 3T 1 g7 H (ol TR | 3Heh e, gadt
FreET T A 78 e qof ®9 @ 9ed & S |

I THeAl o fore e S fafies & qeaeht # oawaeh Ustm=n yfafsear
HfoT | 8

HYAT

Sitg fafids 3 T 10 I & 20,000 9T M Sl THHeT W {ifHd & &
foru erae stmf=ra feh | ST &1 Yrae e TR & e o

Mg W — T 3 (T 37

AMEH W — T 4 9fd AT

Y| qAT AT A=A W — A T

im0 Srcafired g3 | 20% I < 3eEA] i © L {an m qur ain
I KL S TS | Y 3Tkl bl H YehR T 37N hT 3TTeeH TR T3 |

oft 3ded fohu U TS <Y TE STted 379N <l FEdq

I 30,000 15,000

II 18,000 5,000
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67/2/3

ATEET W YT Afdierd T o1 GHRISH 3T T e URT § L for=m m |
IATEET W T TR & ATH TR 1 GURISE 29 q 31fq JreqT | T
T o foram | yem qen rf<w I W e ufst | At Uiyt auw o &
TS | Teh ITWYUNh, hid, for@ 600 310 & foru amded foman on, 3 A9 a1
TR 1 YA &l TR e 39eh 3790 T G &0 L 31 =1 | i Foft 1
& ATdcehl § GrE-ad o |

3Tk IYET YoM T 3| AreAT T /i ot g | T, T 400 N %
fore s feram o, 3 wem qen Stf=m FraaT Uit w1 Yram & fokan | e oft
9t 1 3TTagehl & TrEf-erd o |

TodT o 3T T W01 oft T Ud eAfeaw AT o weTq R foran T | g e
T 3T I T 12 i 79 Ui Sed gA:Fifta @ fean mn

I9YH oFedl & foru S fafiee & qeael A orevdes UsHm=n yfafsear
sifo |

BBG Ltd. invited applications for issuing 2,00,000 equity shares of
T 10 each at a premium of ¥ 10 per share. The amount was payable as

follows :
On Application — ¥ 4 per share (including ¥ 2 premium)
On Allotment — ¥ 5 per share (including ¥ 2 premium)
On First call — T 5 per share (including ¥ 3 premium)

On Second and final call — Balance amount

The issue was fully subscribed. Raghu, a shareholder holding
1000 shares, failed to pay the allotment money and Rahim, another
shareholder holding 1500 shares, paid his entire share money along with
allotment. Raghu’s shares were forfeited immediately after allotment.
Afterwards, the first call was made. Deenanath, a shareholder holding
500 shares, failed to pay the first call money and Dayal, a shareholder
holding 600 shares, paid his second call money along with the first call.
Deenanath’s shares were forfeited immediately after the first call. Later
on the second call was made which was duly received.

Pass necessary journal entries for the above transactions in the books of
BBG Ltd.

OR
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Joy Ltd. invited applications for issuing 20,000 equity shares of ¥ 10

each at par. The amount was payable as follows :
On Application — ¥ 3 per share

On Allotment — ¥ 4 per share

On First and find call — Balance amount

The issue was oversubscribed by three times. Applications for 20% shares
were rejected and the money was refunded. Allotment was made to the

remaining applicants as follows :

Category No. of Shares Applied No. of Shares Allotted
I 30,000 15,000
II 18,000 5,000

Excess money received with applications was adjusted towards sums due
on allotment. Money in excess to sums due on allotment was adjusted
towards sums due on first and final call and any money in excess to sums
due on first and final call was refunded. Kavi, a shareholder who had
applied for 600 shares, failed to pay the remaining allotment money and

his shares were immediately forfeited. Kavi belonged to Category I.

Afterwards the first and final call was made. Gupta, who had applied for
400 shares, failed to pay the first and final call. Gupta also belonged to
Category L.

Shares of Gupta were also forfeited after the first and final call. The
forfeited shares were reissued at ¥ 12 per share fully paid up.

Pass necessary journal entries for the above transactions in the books of
Joy Ltd.

67/2/3 17 P.T.O.



T s @
(Tor<fiar fereromt =t fergeraon)

PART B

(Analysis of Financial Statements)

18. ‘Fiow fafafe™y’ & Uehe YaTEl 1 2 ST AT AL & ? Ig@ hIT |

Why is separate disclosure of cash flows from ‘investing activities’
necessary ? State.

19. ‘NP AT 1 71 3 B 2 TAhg e T Tesh 328 SIS |

What is meant by a ‘non-cash transaction’ ? Give one example of a
non-cash transaction.

20. ‘focfia foawon =1 foveiwor’ <1 <= 31ed 8 2 W fagoiwwr <hi fomal @ Himisti <t
3T HIT |

What is meant by ‘analysis of financial statements’ ? State any two
limitations of such analysis.

21. RV ¢d gU 3g@ HiY foh FfaiRad el § Tomt W gidea S, =Jem
ST THH whIs UNadd Tal B :

(i)  FHAT 390 o A g0 T 2,00,000 3 A 61 56 |
(i) w9 T 5,000 1 CoIBTE T |

(iii) TS GNT T 70,000 % FITTAT T IMEH |

(iv) ¥ 50,000 % 9% FRUUAT ! THdT 370 H qiafdd e |

State with reason whether the following transactions will increase,

decrease or not change the ‘Return on Investment’ :

) Purchase of machinery worth ¥ 2,00,000 by issue of equity shares.
(ii))  Charging depreciation of ¥ 5,000 on machinery.

(iii)) Redemption of debentures in cash ¥ 70,000.

(iv)  Converting ¥ 50,000, 9% debentures into equity shares.

67/2/3 18
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22. fodflw faewon < wa d@ed srgumoneti, fagei, ufseamet qun fafes
gteror, fSan sareET¥es Tred J=fed Bid 2, ol &I H T@eh aar foharm ST
2 1 3 fyamo Wt g & @ B0 & e enuR W ket Y arvyedr
forfta feufa & sR o faseed freprera 8 anfer ek SwammeRal gmar @ 52 @
Thd g AT FAHT ITATT 704 3T1ffeh Fofai o srefquf &9 & KT wepd & |

3Tk HoH ° UG foheal &1 Hodl sl IgaH hIfT [ept e fopelt shrat =t

O Torcli foeer IR #d §9 W@ =R | A8 W 3g@ I foh e

stfufem, 2013 i SEA III o AJIR Th ol & feafq foawor #

frefafea wei ot fora-fopm g sfideni e 3u-sfideni & oF=ia gurfen Smem @ 4

(i) T Il

(i) Yo A=A

(iii) BT fohu T wodT S7S & gAfHTHT W ATy

(iv) =mies ¢ e fuew foufa foewor & fafy & 12 =@ ww=q
HT1 R

Financial statements are prepared following the consistent accounting
concepts, principles, procedures and also the legal environment in which
the business organisations operate. These statements are the source of
information on the basis of which conclusions are drawn about the
profitability and financial position of a company so that their users can

easily understand and use them in their economic decisions.

From the above statement identify any two values that a company should
observe while preparing its financial statements. Also, state under which
major headings and sub-headings the following items will be presented in
the Balance Sheet of a company as per Schedule III of the Companies
Act, 2013 :

(1) Calls-in-arrears
(i1))  Calls-in-advance
(i1i)  Gain on reissue of forfeited equity shares

(iv) Trade payables to be settled beyond 12 months from the date of
Balance Sheet
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23. 319m, 2016 %! J.wH. faftes = feufa faewor g v & o
3.uw. feafuee =1 31 w1t 2016 =t feafa oo

e | 31.3.2016 | 31.3.2015
Toraar g T T
I — QUdT 9T ¢IaT :
1. | erwremdr Ao .
(1) ofer gt 2,25,000 | 1,75,000
(9) &=9 @ i 1 62,500 25,000
2. amé‘qmi
ErefehTetl =T 2 1,12,500 87,500
3. %nqﬁtm‘rﬁ
(31) LRI 0l 3 37,500 18,750
() TGRIA ST 4 50,000 31,250
E3 4,87,500 | 3,37,500
II - gttt
1. | 3TreT gt
(31) woTe ufEratEt
(i) T 5 3,66,250 |  2,28,750
(i) I 6 25,000 37,500
(F) = faw 37,500 25,000
2. mq\trﬁumﬁﬁ
(1) = fHaw 10,000 17,500
() % (ATerE) 7 30,500 18,000
(") Ushg AT Ushg oo 18,250 10,750
K3 4,87,500 | 3,37,500
67/2/3 20
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T & e

e

Sy N— 31.3.2016 31.3.2015
9. T T
1. | oo ud i
(amferrr — emw-gri foeror =1 9) 62,500 25,000
62,500 25,000
2. | drdeRTel /T
12% FOTa 1,12,500 87,500
1,12,500 87,500
3. | TIRTA T
S srfefasy 37,500 18,750
37,500 18,750
4. | TYHRTAN TELH
& AT 50,000 31,250
50,000 31,250
5. | ga uteEraraat
i 4,18,750 2,63,750
B (Gfd) TeasTE (52,500) (35,000)
3,66,250 2,28,750
6. | oTHd UfEra Tt
i 25,000 37,500
25,000 37,500
7. | ¥k (ATEE=)
i (fesht & forw =ra) 30,500 18,000
30,500 18,000
STIARE G :
i) T 25,000, 12% 9T 1 FTEE 31.8.2016 = fomam T |
i) a9 % INE T WEN FEh @ © 20,000 off dur 8 W s
TeIg™ T 10,000 AT T T 2,500 1 g1 W =1 fezm ma |
Uehg aTE faawor dar HifT |
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Following is the Balance Sheet of J.M. Ltd as at 31.3.2016 :

J.M. Ltd. Balance Sheet as at 31.3.2016

Note | 31.3.2016 31.3.2015
Particulars No. F F
I - Equity and Liabilities :
1. | Shareholder’s Funds :
(a) Share Capital 2,25,000 1,75,000
(b) Reserves and Surplus 1 62,500 25,000
2. | Non-Current Liabilities :
Long-Term Borrowings 2 1,12,500 87,500
3. | Current Liabilities :
(a) Short-term Borrowings 3 37,500 18,750
(b) Short-Term Provisions 4 50,000 31,250
Total 4,87,500 3,37,500
II - Assets :
1. | Non-Current Assets :
(a) Fixed Assets:
(i) Tangible 5 3,66,250 2,28,750
(i1) Intangible 6 25,000 37,500
(b) Non-Current Investments 37,500 25,000
2. | Current Assets :
(a) Current Investments 10,000 17,500
(b) Inventories 7 30,500 18,000
(c) Cash and Cash Equivalents 18,250 10,750
Total 4,87,500 3,37,500

67/2/3
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Notes to Accounts

Note . 31.3.2016 | 31.3.2015
Particulars
No. 3 3
1. Reserves and Surplus
(Surplus i.e., Balance in the
Statement of Profit and Loss) 62,500 25,000
62,500 25,000
2. Long-term Borrowings
12% Debentures 1,12,500 87,500
1,12,500 87,500
3. Short-term Borrowings
Bank Overdraft 37,500 18,750
37,500 18,750
4, Short-term Provisions
Proposed Dividend 50,000 31,250
50,000 31,250
5. Tangible Assets
Machinery 4,18,750 | 2,63,750
Accumulated Depreciation (52,500) | (35,000)
3,66,250 | 2,28,750
6. Intangible Assets
Goodwill 25,000 37,500
25,000 37,500
7. Inventories
Stock in Trade 30,500 18,000
30,500 18,000

Additional Information :
) T 25,000, 12% debentures were issued on 31.3.2016.

(i1)  During the year a piece of machinery costing ¥ 20,000, on which
accumulated depreciation was ¥ 10,000, was sold at a loss of
< 2,500.

Prepare Cash Flow Statement.
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18.

19.

20.

21.

22.

23.

67/2/3

Qg @
(erfrenfora eraTeR)
PART B

(Computerized Accounting)

TH. R TA. (SQL) Th T899 o €9 H AT (Join) T T 379 7 ?
What is meant by ‘Join’ as a tool of SQL ?

‘Fhd AT qAT Yg AT O hl SIEH H FHR{Td LA hl STTeRTRAl Hi ol
Bl ® ?

Why is it not required to store ‘Gross Salary’ and ‘Net Salary’ attributes
in the database ?

Tae 2act o Tohedl TR AT &1 3g@ HIT |

State any four advantages of ‘Pivot Tables’.

Teh I fordd g I T YgH hi AT 7 2 THETSY |
What information is provided by a salary bill ? Explain.

faferse @ |Fea?X 1 T9F HH 4 (@ &H § W AW dd e h
JRR AT YA T ITEH T TII&0 STeRIHATHI hl THLAT |

Explain ‘Size of Organisation’ and ‘Ease of Adaptation and Training
needs’ as considerations before opting for a specific computer accounting
software.

SoRC BISA (sl bl TAMRG i § foTu I a1t ol 1 3g@ il |
State the steps to be followed to import data from a text file.
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